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What is j._ll(3sinx—sin3x)cnszxdx PYQ — 2024 - |
equal to ?

| a
(a “% ]7({)() dy = 0, % f&) i< 00‘0’
(b) 0 s ¢ 4, Eg/[,) il we.
(c) —;“ f(l) :(3 Sin —!Iﬁnﬂ) Cos“ X

0 | o 2 a

d) % {(7‘) =(3 9’*'(4) - 5/03(—1))(603 (..x)) Sin(-%) = -gpr

:("35'1?;1 + .('f'nzx)(wgﬁx) MC") = syt

> = (39/?01— sr'mx) W' = — ;{(1)
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f(-2) = - #(x)

a
/ (3$"nx - Sm3x) ST dx
il

(

0
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. 1 '
What is f_1(3 sin x —sin3x) cos®xdx
equal to ?

(@) "2

(b) O

(c) 5

@ 5

ANS : (b)

PYQ -2024 -1
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b b

Let p =I f(x)dx and ¢ =I |f (x)|dx. PYQ - 2024 - |
; a 2

If f(x)=e, then which one of the

following is correct ?
(@ p=2q |

®) p=-q

(c) 4p=¢q

(d p=g

b
p - /7([")47(

f)=e* »o
./7’(1)/= —

b 6
1= [ It - / fd
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b b
Let p= Lf (x)dx and g = L |f (x)|dx. PYQ - 2024 - |

If f(x)=e*, then which one of the
following is correct ?

(@ p=2q
b) p=-¢q
() 4p=¢q
d) p=gq

ANS : (d)
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Q) What is J.tan_1 (secx +tanx)dx equal to?

2 2
X X X X
(@) 4+4+c (b) 2+4+c
2 2
X X X X
(¢) 4+4+c (d) 4—4+c
) ' 2 ]
Secr + Tanx =/ + Smx _ S %/;, + Cof’x/l + 28In % 00!7%, )
Cos . ) )
WSty — sh'a),
- : L L]
= (sinfy + cos %) _ 05Ty £ Sn,

(.('/bl/z +w§x/2) ( c0gxf Jin!/ﬂ WYy~ sm,
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6S 1y + Sinf;

Wy ~ smf,

- I+ fth _ oy

I -~ fan 1/2/
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Q) What is I tan™ (secx +tanx)dx equal to?

2 2
X X X X
+—+c +—+c
@ 4+ ®) =+
(C) 11',X+TCX2+C (d) TCX_X2+C
4 4 4 4

Ans: (a)
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Q) Let f(x) be an indefinite integral of sin? x. Consider the
following statements :
Statement 1 : The function f(x) satisfies f(x + m) @

= f(x) for all real x.

Statement 2 : sin® (x + 7) = sin®x for all real x. .

Which one of the following is correct in respect of the f(x) - / Sy dx
above statements?

(a) Both the statements are true and Statement 2 is the
correct explanation of Statement 1

(b) Both the statements are true but Statement 2 1s not the
correct explanation of Statement 1

(c) Statement 1 1s true but Statement 2 1s false

(d) Statement 1 1s false but Statement 2 is true

:{- (1- coSlx) d1

L] x- _st'nzaj +¢
o Q

0
= X - LS ¢
K /

"



NDA 12025 LIVE CLASS - MATHS - REVISION

7(/1) ] _} - _é_fmzx fC

fae7) = Trx _91. .c;'ne('ir-m t e
q

= X _ Jomax + ._7[+C‘—)
2 4 o

e
44

2 o 2
@ !;T)z(%f-?‘f) = [ffn(uﬂ)] = [.—5'1?)sz: (S’mx} -‘;!fon"x
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Q) Let f(x) be an indefinite integral of sin? x. Consider the

following statements :

Statement 1 : The function f(x) satisfies f(x + m)

= f(x) for all real x.

Statement 2 : sin® (x + 7) = sin®x for all real x.

Which one of the following is correct in respect of the

above statements?

(a) Both the statements are true and Statement 2 is the
correct explanation of Statement 1

(b) Both the statements are true but Statement 2 1s not the
correct explanation of Statement 1

(c) Statement 1 1s true but Statement 2 1s false

(d) Statement 1 1s false but Statement 2 is true

Ans: (b)

(@=]
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xe” dx
Q) What is I 1) equal to?

(@) (x+l)zex+c (b) (x+1)e+c

ex +c d ex +cC
(©) x+1 @ (x+1)2

where c 1s the constant integration.

¢ -0
i)' ()

(!

[o( () -
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xe” dx
Q) What is I 1) equal to?

@ (x+ I)Zex-l-c (b) (x+1)e+c
ex +c d ex +C
© x+1 @) (x+1)*

where c 1s the constant integration.

Ans: (c)
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Q) What is Jeexexdx equal to ?

(@) eex +c (b) Zeex +c
©) € 1p (d) 26 ¢* +¢
t = o
dF = ¢ dx
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Q) What is Jeexexdx equal to ?
@ € 4c ®) 267 4o

(c) eex eX +c¢ (d) 2eexex +c

Ans: (a)
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Q) What is E e (€08 X) gy equal to?

T2
@ -1 7 - / L
(b) O "
(c) 1 (/1)

(d) 2

~2
W\

/ s A dx

)
?
=
\’

(at1) dx

Lj I (wsr) _

s X

————
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Q) What is E e (€08 X) gy equal to?

(fap -1
(b} O
() 1
(d) 2

Ans: (c)
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Q) What is I:: ln[tanng dx equal to?

(e)

(b)

(c)

(d)

0

M| =

1- jtn(fan_gdx,—-—‘ (1)
. '; o (T2 ) dy - ;1,,7‘“(1-&)41,
O/ln 0”(__;—) L = / A 2

T
- /lnw{':’{_a’l —_ (9—)
0
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(1) + (3,
T
2] - /[jn (’fan,;. + ln(aofg_)/a(z
T
)7 = /ln(/) i 190?/4 +Z«UB = @Jfﬂ-ﬁ)

0
? - 1 = 0
L()

\.Mv'
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I X
Q) What is Io In [tan -2-) dx equal to?
@ 0

) *

o 1

(d} 2

Ans: (a)
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Fid .
What is Iz a?i-smx dx equal | PYQ-2024-|

0 2a+sinx+cosx
to ? :

Y/ ﬂl ]
@ 7. / a+ St dx [,)
(b) % | ofd + !I.nl + S
0

c) 1
© 1} /3

—

da + !I'n(j__ay +cog('l_) ’
Q a

7’72, o
; > s Ly = AL
(/)+(2)/ 2) - /.:?“fm”“’f" e > 1 a("-f’z") Z

5 46 £ Shha + 00SK _—

@ 0 ) :
J "/ a1 Sn (_&l-x) _ ar ot —(2)
da + Cosx + Spx
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What is -[
0

to ?
(a)

(b)

() 1
d) 0

ST RS

ANS : (a)

id
2

a-+sinx

2a+sinx +cosx

dx equal

PYQ -2024 -1
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Q) What is J x]dx + j x]dx equal to, where [,] is the
greatest integer function?
(@ b-a (b)a->b (c)0 (d)2(b-a)
b b
[(69+[+])4 = [0
¢ a
b
2 [ _ x] Q- 6
[/
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EXAMS

Q) What is Jb [x] dx + Jb [— x]dx equal to, where [,] is the

greatest integer function?
(@ b-a (b)a-b (c)0 (d)2(b-a)

Ans: (b)
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Q) What is the area of the parabola y*> = 4bx bounded by its
latus rectum ?
(a) 2b?/3 square unit (b) 4b%/3 square unit
(¢) b?square unit (d) 8b%3 square unit

o4l b
| /KJ Area:?—/f%x dx
0

[0,0) ¢ (5,0) :
/l\ = o -?/;/ [1 du
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Q) What is the area of the parabola y* = 4bx bounded by its
latus rectum ?
(a) 2b?/3 square unit (b) 4b%/3 square unit
(¢) b?square unit (d) 8b%3 square unit

Ans: (d)

XAMS
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TT T
Q) The value of J.()L/tanx dx +J'OE\/ cotx dx is equal to

]
@ - )

2
T
© 55 @ 75
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TT T
Q) The value of J'OZ Jtan x dx +J'OZ.\/ cotx dx is equal to

]
@ - )

2
T
© 55 @ 75

Ans: (d)

XAMS
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Q)What is j > . equal to?
2x" —2x +1
tan~'@x — 1)
(a) : +C / Ix )
b)2 tan”'@x - 1)+ ¢ 2
tan~" Qx + 1) 1t -1+ L
+C 4

(
(C) =
(d)

dtan™' @x - 1)+ c
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Q)What is I ax equal to?

2x% —2x +1

tan~'(2x —1)
+C

)
2
b)2 tan'@x — 1) + ¢
tan™' 2x + 1)

5= 0

EXAMS

Ans: (d)



NDA 12025 LIVE CLASS - MATHS - REVISION
(i)
Q) IOZ sin x — cos x|dx is equal to

(a) 0 (b)zf 1)
)22 2(v2 + 1)

v 0
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T
Q) -[02 |sin x — cos x|dx is equal to

(a) 0 (b) 2(v2 —1)
(c) 22 (d)2(+2 + 1)

Ans: (b)
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EEEEE

Q) What is Jln(x?‘ )dx equal to?

(@)2xIn(x)—2x + C

(0) 2 +C

x
(c)2xIn(x) +C

@ 2"N®) 5, 40
X
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Q) What is Jln(xz )dx equal to?

(@) 2xIn(x)—2x + C

(0) 2 +C

X
c)2xIn(x)+C
)

d 2 i) —2x +C
X

(
(

Ans: (a)
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82
QIfr, = [ ¢ 2
¢ logx

@) I =1,

© I+ =0

and I = [ ~ %~ dux,then
X
(b) 2L, =1
d) 1, =21,
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e’ dx

Q)If ], = j T

(a) I =1,
) Ib+=0

Ans: (a)

and I, —j —dx then

(b) oI, = I
d) 1, =21,
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1
Q) What is I G x)" dx equal to?

1 1

@ L+ ® iDm+2)
© 1 (d 0
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1
Q) What is I G x)" dx equal to?

1 1

@ ;) ®) D +2)
(c) 1 d 0

Ans: (b)
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EEEEE

12 cotx
Q)Ifjn dx=m(n+n),thenm-n
0 cotx+cosecx

isequal to
@-1 (1 © () -1
2 2
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Q)Iff”2 el dx=m(n+n),thenm-n
0 cotx+cosecx
isequal to
@-L (1 © L d -1
2 2

Ans: (d)
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(xel + X )dx

Q) What 1s equal to?
[
X2
(a) 7+c (b) In(x+e)+c
1 e, X
(c) Inx*+e%+c (d) gIn(x +e )+c
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(xel + X )dx

Q) What 1s equal to?
[
X2
@) e (b) In(x+e)+c
1 e, X
(© InE+e)+e @ Glnfx" )

Ans: (d)

XAMS
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Q) I(In x)_1 dx —j(In x)_zdx is equal to

(@) x(@hx)'+c (b) x(Inx)?+c¢
(¢) x(Inx)+c (d) x(nx)*+c
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Q) I(In x)_1 dx —j(In x)_zdx is equal to

() x(Mhx)*+ie (b) x(Inx)?+c¢
(¢) x(Inx)+c (d) x(Inx)*+c

Ans: (a)
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